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82- Henry Ford, who first ... Model T cars in 1908, is considered by many as one of the pioneers in the area of car manufacturing\\</

because he was able to come up with many new plans in this industry. (pus9 4)

1) provided 2) designed 3) involved 4) combined

83- The famous researcher has been ... to make a speech on the topic of global warming. (a9 0)
1) invited 2) generated 3) raised 4) conducted

84- The old man is very proud of the .. of valuable stamps he has now available in his album. (s ()
1) function 2) experience 3) contrast 4) collection

85- Whatever it was, it wasn’t a spacecraft—I’'m ... that. (i 1)
1) responsible for 2) certain of 3) shocked at 4) specific to

86- After exploring the old part of the town, the tourists would go to visit some of the art ... . (a9 0)
1) attractions 2) regards 3) galleries 4) values

87- After many years of trade with their neighboring country, they have ... decided to stop all that. (jus )
1) brightly 2) culturally 3) deeply 4) suddenly

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice (1), (2), (3), or (4)

best fits each space. Then mark your answer sheet.

In the 1990s, as the world began to become more and more digital, some people stated that it would lead to the death of the city,
as people’s geographical location would become less and less - 2%/ .

Two decades on, the opposite has happened: human beings continue to live very much in the physical realm, and early this cen-

tury 6 people are living in urban than rural areas. The UN G that by 2050 the world’s urban population will be
as big as the world’s total population in 2002. But 2 . will the cities of tomorrow be like?
People continue to be attracted to cities by the economic, social and creative opportunities B 2 offer; large cities are more

productive than rural areas; they would be the places where people can make more money than they can in rural areas.

88- 1) balanced 2) personal 3) important 4) formal )
89- 1) many 2) few 3) some 4) more

90- 1) predicts 2) communicates 3) instructs 4) notices

91- 1) how 2) what 3) who 4) whom

92- 1) which they 2)it 3) that 4) are (s 1)

Part C: Reading Comprehension
Directions: Read the following two passages and answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark

the correct choice on your answer sheet.

Passage (1):

In 2011, eight percent of children eight-years old and younger used mobile devices daily. That’s according to a report from Com-
mon Sense Media. This organization studies issues of concern to teachers and families. By 2015, their report shows that figure had
more than doubled. Many pediatricians are concerned. In my view, they are right to be.

These caring doctors state that this trend is disturbing and needs attention. They focus on data indicating that excessive media
use by young children is linked to fatness, lack of sleep, and aggressiveness. They also know that too much media use negatively af-
fects school performance. The American Academy of Pediatrics (AAP) suggests a plan to handle the problem.

The doctors encourage families to set rules about TV consumption, texting, Internet surfing and social media use. They recom- .

mend limiting all four. As I see it, they are the people who know best. h
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&>/93- Which of the following best describes the author’s view towards children’s use of mobile phones and other media devices?

1) Excited 2) Careful 3) Anxious 4) Economic
94- The word “pediatricians” in paragraph 1 is closest in meaning to ... .

1) issues 2) doctors 3) reports 4) organizations
95- The passage mentions all of the following as an end result of excessive media use by young children EXCEPT ... .

1) fatness 2) not enough sleep

3) poor school work 4) teacher’s school performance
96- Which of the following is NOT stated in the passage?

1) Doctors have a plan to make schools forbid mobile use.

2) Young children’s use of media devices is on the increase.

3) The American Academy of Pediatrics is concerned about the problem which is the focus of the passage.

4) One cause of young children’s aggressiveness can be their using media devices more often than they should.
Passage (2):

Child labor refers to the employment of children in any work that does not allow children enjoy their childhood, prevents them
from attending regular school, and that is mentally, physically, socially or morally dangerous and harmful. This practice is what
many international organizations are against. The law system across the world does not accept child labor. The laws do not consider
all work by children as child labor; exceptions include work by child artists, family duties, supervised training, certain types of work

such as those by Amish children, some forms of child work common among native American children, and others.

Child labor has existed to varying extents, through most of history. Before 1940, numerous children aged 5-14 worked in Europe,
the United States and various colonies of European powers. These children mainly worked in agriculture, home-based assembly
operations, factories, mining and in services such as newsies.

In developing countries, with high poverty and poor schooling opportunities, child labor is still common. In 2010, sub-Saharan
Africa had the highest incidence rates of child labor, with several African nations with over 50 percent of children aged 5-14 working.
Worldwide agriculture is the largest employer of child labor. Vast majority of child labor is found in rural areas and informal urban
economy; children are most often employed by their parents, rather than factories. Poverty and lack of schools are considered as the
primary cause of child labor.

97- The first sentence of the passage, “Child labor refers ... and harmful,” isa ... .

1) definition 2) psychological topic 3) warning 4) national expectation
98- The passage supports the fact that ... .

1) child labor first began in Europe and the United States, but not in sub-Saharan Africa

2) if a child is forced to work by his or her parents, the case is not a case of child labor

3) some forms of child work are not sometimes considered as instances of child labor

4) child labor is internationally accepted
99- The word “those” in paragraph 1 refers to ... .

1) types of work 2) exceptions 3) family duties 4) laws related to child labor
100- Why does the author mention African countries in paragraph 3?

1) To give an example in support of an earlier statement

2) To indicate the relationship between poverty and child labor

3) To show the role of parents in causing young children to work

4) To prove that in countries with a traditional mode of agriculture child labor is ignored
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Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice (1), (2), (3), or (4)

best fits each space. Then mark your answer sheet.

People can lose sleep for a variety of reasons, B8 medications, caffeine, stress and pain. When the main ) isre
moved the sleep problem usually gets better on its own. For some people, 00 , sleep problems turn into insomnia, the chronic
inability to either fall asleep or B GO sleeping. Research suggests that attitudes about sleep, and the resulting sleep patterns
and behaviors, 0y certain individuals more likely to suffer from sleeplessness nights.

88- 1) including 2) included 3) are included 4) it includes

89- 1) cause 2) style 3) experience 4) activity (a7 1)
90- 1) when 2) such as 3) although 4) however

91- 1) let 2) stay 3) get 4) hold (s )
92- 1) make 2) makes 3) has made 4) to make

Part C: Reading Comprehension
Directions: Read the following two passages and answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark

the correct choice on your answer sheet.

PASSAGE (1):

Economic circumstances also affect life expectancy, which is a statistical measure of the average time an organism is expected
to live. For example, in the United Kingdom, life expectancy in the wealthiest and richest areas is several years higher than in the
poorest areas. This may reflect factors such as diet and lifestyle, as well as access to medical care. It may also reflect a selective ef-
fect: people with chronic life-threatening illnesses are less likely to become rich or to live in rich areas. In Glasgow, the difference

is amongst the highest in the world: life expectancy for males in the heavily deprived Calton area stands at 54, which is 28 years less

than in the rich area of Lenzie, which is only 8 km away.

Life expectancy is also likely to be affected by exposure to high levels of highway air pollution or industrial air pollution. This is
one way that people’s job can have a major effect on life expectancy. Coal miners (and in prior generations, asbestos cutters) often
have lower life expediencies than average life expediencies. Other factors affecting an individual’s life expectancy are genetic illness-
es, drug use, tobacco smoking, fatness, access to health care, diet and exercise.

93- What does the paragraph before this passage most probably discuss?

1) A factor or factors influencing life expectancy

2) When the idea of life expectancy first appeared

3) People’s economic conditions in countries

4) Why people now live longer than they did in the past
94- What aspect of life expectancy in the United Kingdom does the first paragraph deal with?

1) The reasons why it is so high 2) Techniques used to increase it

3) Why it is not fixed from year to year 4) How it is affected by people’s economic conditions
95- The word “which” in the first paragraph refers to ... .

1) Glasgow 2) difference

3) Calton area 4) life expectancy
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Part C: Reading Comprehension
Directions: Read the following two passages and answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark

the correct choice on your answer sheet.

PASSAGE (1):

For many environmentalists, the world seems to be getting worse; they have developed long lists of our main fears: that natural
resources are running out; that the population is ever growing, leaving less and less to eat; that species are becoming extinct in great
numbers, and that the planet’s air and water are becoming ever more polluted.

But a quick look at the facts shows a different picture. First, energy and other natural resources have become more than they
were in the past, not less so, since the book The Limits to Growth was published in 1972 by a group of scientists. Second, more food
is now produced per head of the world’s population than at any time in history. Fewer people are dying of hunger. Third, although
animal and plant species are indeed becoming extinct, only about 0.7% of them are expected to disappear in the next 50 years, not
25-50%, as has so often been predicted. And finally, most forms of environmental pollution either appear to have been exaggerated,
or are transient — associated with the early phases of industrialization and therefore best removed not by limiting economic growth,
but by speeding it up.

93- Which of the following statements best describes the way the information in the passage is presented?
1) A number of problems are listed and then followed by their appropriate solutions.
2) A dangerous situation is described and then its main causes are discussed.
3) A main point is made and then refused by the incoming information.
4) A conclusion is mentioned and then facts to support it are included.

94- It can be concluded from the passage that those who wrote the book The Limits to Growth believed that energy and other natural

resources ... .
1) are endless 2) would soon be used more suitably
3) are less than they were in the past 4) can be used to their full capacity

95- Which of the following best describes the author’s opinion about the extinction of animal and plant species?
1) It is not happening.
2) It is a true event but can be stopped very easily.
3) It is happening only to those species that are very weak.
4) It is happening at a much lower rate than it is said to be the case by some.
96- The author believes that economic growth ... .
1) should be made to continue faster
2) is only in its early stages of development
3) does lead to pollution, but it should not be stopped anyway
4) may not omit pollution but can prevent it from becoming worse than it is now
PASSAGE (2):
Why is music important? Music participation provides a unique opportunity for literacy preparation — to prepare children to
learn how to read and write at school. Whether the children are singing, playing, or listening, teachers direct them to listen and hear
in new ways which exercises their aural discrimination. Playing instruments and adding movement to the lessons teaches children

about sequential learning which is essential in reading comprehension. Plato once said that music “is a stronger instrument than

h any other for education”. You will find many teachers of young children who would agree with him. Recent research has found that
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